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ZOOLOGY
(General )

( Physiology, Biochemistry and
Endocrinology)

Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct answer from the
following : (any five) 1x5=5

were AR wifds Sexthl 21 Sfersat ¢ (Rrear
lf5or)

(a) Liver secretes
TPCO FY I

(i) hormone

C|
& Contd.



(ii) renin
&=

(iii) bile
foraet

(iv) None of the above
CYF] B8 JZF

(b) The mohosaccharide found only in
milk is

GG NTRS AR G IFIRY =R
() Glucose
we
(ii) Galactose
R FA]
(iiij) Lactose
@3

(iv) Fructose
F3o
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(c) Fructose 6-phosphate is converted to
fructose 1,6 diphosphate by

gIE 6-FLIT FTE 1,6 CRFIOC
FAR] &

(i) phosphatase

FRFEE
(ii) hexokinase
R PR
(iij) phosphofructokinase
T G T IR
(iv) aldolase
TG TS
(d) FSH is secreted by
FSH %<9 I
(i) ovary
S
(ij) pituitary gland

fipoia afg
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(iii) corpus luteum

g epioam
(iv) adrenal gland
< oy
(e) Urea is formed in
TR Beotn =
(i) Kidney
©

(ii) Nephron
P«

(iii) Liver
Ige

(iv) All of the above
829 TP

(/) Which one of the following is not
neurotransmitter ?

O] (IOl NS CEbI A% ?
(i) dopamine

oA
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(ii) epinephrine
G

(iii) serotonin
oI

(iv) protamine

A CBAZA

(g) Incomplete breakdown of glucose in
anaerobic respiration results in the

formation of

RS WS eI ST ToNoE TS

Teoim T
() water and CO,
ANt AT CO,

(i) alcohol and CO,
L WF CO,

(iii) fructose and water

T O AN
(iv) glucose and CO,

T WF CO,
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2.

Fill in the blanks of the following: (any

five)

1x5=5

oeTS AR AT 312 <3t 1t ¢ (Rieeteant #Hison)

(a)
(b)

(c)

(@)

Glycogen is a polymer of
molecule.

RIES AT 9T SifeR |

The junction of two neurons is called

75! WYL AT (AW

The secretion of endocrine gland is
called

THHIAl A W I omidS
QT |

One molecule of haemoglobin can

carry a maximum of 0O,

molecules at a time.

aol AR wqw 9w e
wWs Bt 0, &9 TR M)
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() The number of ATP molecules
produced from a single glucose
molecule in glycolysis is

AR IR fErare @Bl 4TS W4T o[t B
¢zl ATP 993 WA T |

() The enzyme that enhances the rate of
formation of carbonic acid in RBC is

RBC © TG g o7 & 5t Srmiot
= |

(g) Long single cytoplasmic process of
neuron is called

FET 4T N (PRI ATl

Q=
3. Write short notes on any five of the
following : 2x5=10
we) fceicat b o3 Gt fora g
(a) Bohr’s effect
I ARG
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(b) Ureotelic animal
WRerGler 2

(c) Diabetes mellitus
TRIRMDE ifEbR

(d) Standard deviation
i Reem

(e) Arithmetic mean

M siw

() Hydrogen ion concentration

RGH =T siipet
(g9 Phospholipid

FeF fefsre

4. Answer any four of the following :
Sx4=20

SR/ [ bifbT ©es ford e

(a) Describe the biological significance of
carbohydrate.

“EIT CaRe Steod 31 T4t |
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(b) Draw a labelled diagram of nephron.

@F 9T e g s 34|

(c) Describe the mechanism of conduction
of nerve impulse through myelinated
nerve fibre.

NEW NTEARE YOI NSI N, (&N
A oIS I |

(d) Write the functions of the hormones
secreted from the neurohypophysis.

e R TR [ T QA TS
FARIT 1|

(e) Describe the role of gastric juice in
digestion of foods.

A ABTO AT | Ghi! I 341 |

() Describe in brief about respiratory
pigments.

W G A v 3t )
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5. Answer any four of the following :
10x4=40

R Rieeret bifsors Teq o e

(a) What is digestion ? Mention the name
of different enzymes secreted by
pancreas and describe their role in
digestion. 1+(3+6)=10

o Ferea [ o ¢ wamEe o[ RefRe @[l

CHHITRI AN Tl Wi oo feras
CRAT S 3t w11

(bp) What do you mean by blood
coagulation ? Describe the mechanism
of blood coagulation in man.

2+8=10

T oww e B 3@l 2 TTmw I Sew
AfeF o T4

(c) Define enzyme. Write about different
classes of enzymes with at least one
example of each class. 1+(6+3)=10

TR K@ @l Bepmey Rfew

TR R & o gt @fiE
gBO: GhiiF Snizae |
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(d) Describe the structure and composition
of human blood. Mention four major
functions of blood. 8+2=10

TR (OTF o7 T HY(& 3909 71 | (9%
51/RGY et B SrEmd Tt |

(e) What are the different steps of cellular
respiration ? Describe the Krebs cycle

in brief. 2+8=10
IR P Rfen semz & {2 (&0 ot
AT I T

(1 Describe the physiological functions of

estrogen and progesterone in mammals.

5+5=10

T T (TS BT W e
el IR T 39

(g) Define respiration. Describe the
mechanism of transport of O, and

CO, by blood. 1+(3+6)=10

R TRl 3l (SR wiel O, W O,
offRazs owfS M F1
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() ()

Determine the median from the
following data : S

oo A Sifereiieg siat g Wefa i 8

x :|1|12(3(4]5
f :18]|5]|6]|2]|1

5 -

(i) A student secured marks in
different subjects as given below :
e gaR Rion Rere o w11 Tong
were a1 2
English { MIL | Physics | Chemistry | Biology | Mathematics
50 65 70 75 80 60

From the above data, draw a pie
diagram.

TARIG IR i1 B! 1 ot wicww
Sl
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